
 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.eu 

  www.rdmoto.eu 
 

 

1 

CF138-PH01 
CFMOTO NK650 

 
Kit for the left side  Kit for the right side 

ID Description Cat.No Pcs  ID Description Cat.No Pcs 

1 Aluminum protector insert X131 1  1 Aluminum protector insert X131 1 

2 Bolt M10x80mm 852 1  2 Bolt M10x70mm 851 1 

3 Protector  PVPKN-0/16 1  3 Protector PVPKN-0/16 1 

4 Steel adapter 762 1  4 Steel adapter 763 1 

5 Bolt M8x30mm 834 1  5 Bolt M8x30mm 834 1 

6 Bolt M10x100x1,25mm 892 1  6 Bolt M10x105x1,25mm 893 1 

7 Flat washer M8 802 1  7 Flat washer M8 802 1 

8 Flat washer M10 804 1  8 Dural.sleeve l=5mm 433 2 

9 Dural.sleeve l=20mm 2 1  9 Sticker RDmoto  1 

10 Dural.sleeve l=5mm 433 2      

11 Dural.sleeve l=4,5mm 116 1      

12 Sticker RDmoto        

We recommend using medium strength thread glue during assembly. 
 

 
Original bolt 

Protector ID.3 + insert ID.1 + 

bolt ID.2 + dural. sleeve under 

to protector ID.9 

Adapter ID.4 + bolt ID.5 + 

bolt ID.6 + washer M8 ID.7 + 
washer M10 ID.8 + dural. 

sleeve ID.11 

2x dural. sleeve ID.10 

under to footrest holder 



 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.eu 

  www.rdmoto.eu 
 

 

2 

 

 

    

Adapter ID.4 + bolt ID.5 + 

bolt ID.6 + washer M8 ID.7  

2x dural. sleeve ID.8 under 

to footrest holder 

Original bolt 

Protector ID.3 + insert 

ID.1 + bolt ID.2 


